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v) & ng £ N, FEER h(ng), Mo
TE N,, HERES h(no), W h(ng) # 0, Al
h(ng) = h(my) + 1; 41 h(my) = 0, Hl
h(ng) = 0 B 1,

HE L, B h(M) =d=0, 8l T(my) =
ni, .- - ,T(ﬁk,l) = Mg, ¥ ng, ..., g1
HFEREE, W ng B N, HRAK, 4
T 1-10 BB RTE, T(no) =T (o),
T(T(W)) = T(m),....T(T(Te1)) =
T(nq), HEE iv, F T(R0), ..., T (Tla—1)
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JE N, TEFEAH, W T(7q) B N, TER
g, Wt h(ng) =d+1 = h(mo) +1, B
E h(mo) = 0 By, my 8B N, FRFH,
Ty AR RER I ATRERNZ N, R, A
(ng) = 0 B¢ 1o

>

I

5. RSB E B AT R E L

AR

€

FH N T AT 2R ) SR BN B, R BT
(1) SREHERNE (N, T) HE, B
no (RMEMERNSES N') B, XFEBS T &
B, RRpiBERE T I H R — AT
B WSS TRITEE, BHIEIRE
THHE. MR

T(2)=3,T(3) =5,....T(ps_1) = Pp.- .-

pr(k=1,2,...) BEERE, HEHFIEE
BEIWE, thrlEFS — R BRI .

MRS T %5, DKEERE
R (N, T), Estiais B s b R
TERERONTR. ERWRGE, HRER
HEER. ST, XFEEGRBE, e
EREEE, AL, MER B AHE A E AR
. EER. RBGRRIEENT &%, BRI E MR
MEEE, AEBEEN T,

BREFERNZ: MEARTMNTE MR
MR AR, AR E HUE E R
NE Y BV EE, fIMEE, EREHHE
M E T, RE REESHER
B, BRI [FREMRA S (8 N
BATEREY), EgslAARE, B8 _FH
(T'(ni—1,n;) = ny 1) BETEFIE?
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